6.30
2020868308 18:39

4% Diwgma| type
e v bhe & biided et opare 2 dvasne ( Hype
dmV = Q.
det (Miegy bo abass oy 4=(85), €K™,
%130 CUHOA=L5 X304 Ve 4.

by .
2ot (&i)iao he & Cawonical bhas:y a{. Z

X e bilina, fom On 2% st 'X{a;,g;):—:?ﬁ. ‘
¢ Yo <X(0.6) .0 2°
bv) =~ @ Za-'jrﬂda,,( Wim deg %, =4,
[(TERT B
deg %, %, = deqx, + dayy, = d43,

dfj @) i ok

dey (TTx' )= 2hids
Sig  C ZP- ﬂIW(/( Blv)y  thhayity e Zo’ﬂy‘v(;'qj
o“ TW\ .

T is o totally odertd Snbsee & C Blv)  Gmviiggmy o
2% = homosgnemms 0[S, St

™ My
U0 | kems S 0720 e L, 0omepg ngg
iy o basis "‘I Blvy (sllef  Yrictef PBw  bass )

M =rmninen| (n)
Calltg R Aight o |

———

b ".:?pj (:A/ U .
déjlyd{ﬂ.

T ] 0{
Towt, 1| Gl ey i Thesah b oa St Shet el
Bnd ¥ en allien Prp G of wll Yowmp- Lo elty

deg [ & 2?
= R o} all  momovsni( Ye(mctod O~ Supy~ wad,




= W St ef ol momOtel YEWHCHL G~ Supy~ wand,
in havk  letrys  Gritrmete 6 bas's fw 4

AT (b)) denae P set of dosrees of (mcal) Phy

Somyerars 04 Blv) A (b)) C_//VG

O (B = A7 (Bv) ) - & (Bw)

m‘l) L= Min I m ('.'/A/a (hﬂ]t“ (?T‘ ?!7 fj!."’):o? <"

Mi; - — ]\(Mc )" (x5) | me 1 ]

X¢ PER) adg %1v) = %Y = Ms ((%89)
My iy wil-dd & M 7y faire
i 20— 2°
-d; | i=2
éj‘””t’)ﬁf 1t J
Callth  poenolo- {lottion

S = ad.

bef. (it ) 9”-7—“7‘61@:759 (G . D=G
( G,y o caned & gropriaif

O e D e eahof Wy, ey ”””"f""‘y UCthm, g
b9 M oper two

O e D= (g 20 fy g €
end  (XY)ey = Na(y.y,

M i ), oy oeds = 00), (%, ve2) ¢ v

ﬂngf S~

Gt (Y, (% ) ) =) ) 13y £ ) p

Sild; )=



{‘“ 7.‘{' (9i)‘): (X, ﬂ'z‘) f‘D ) (){,Iﬁl [¥Y L )(.. D

E VAT, T et I G sl (e, )
(AN €D eax=nap =y | 414

b 1} =t {fof-f . e fcg

’:—31’”9 (1. € X = ¥f =%
( suelt et howswpphie 610 hidpuping )

W(l/} = r(S, Z:-)‘ S/t (Z") y L iy Gn Odemy( has

—_—
9‘{26. et On\ m,)}"lz 6/‘/:, m, < m

'f.,"':l."\‘ 6“\'":@1. S‘*'f.
Sih"" 51‘, ( Ea} s well "0@4, v all )né__m_z 4"&(
S ih, S’h (-E,,\ '--_(: , S :Sim, S 7

2.1.,'1"
Z-o'-=(é\- | ¢ 29, (1, 20) (v,..,)
V PR ‘ﬁ‘f r(.rfhh hé‘h;x .
Thaw & s M 0 & A 7 a tny Cérren meor. y

L ?

C(¥ 0= 95 %04,
] _ @4;;
{ L 193 = ?ifl Kip = 2.
(a5)  ©UY (g i e e
(i, G ki bl e =) (Wcu]}asw
Thn - 1 Oima O weyl Gigoid iy pfs 4nd tiay =)

m By Vs ofting (arten typt PRn
Qkgm Yv» =¥



muGs] It A B of affog wpC P Gkdining <o
M. AT e ¢ o rel rots Gmwsp A
q pesitig imagmer)  ywy 5 St
Aye"'b‘:.dre Ckc,c MJ.SJ
’ A 4 6 5;-.771( hosp
Chose & Pomogenees Yeswricved PBw  hass ©f B )
Them o el k3o Tt xt$ & Phw Sobrrer Ix

of desel S+ kb, heie 025 Y. = k4]
, —~ /44.’
Thee ot QR Biv) =2, N Lpns . )
donne. dox B= DB b 4 19 Jredw aly  F=f
3(,41 {’j‘-)lao he ) ) 'f&-,.'Lj Ann#)pwu; Oty a} 8 {7'.
(ho i e, e <)
A a ey o] ey irdpeltg. TL I mopey,
. 0 < mtP VT P Gligm B = o

P-[ [ € 7,4 <& l.t -_yt{ heng
gl Y £ M (Dy4oor )+ (P

< m——(—"j-'—)qtlp

det m = heshe of &

= (M"P) ?;:.

d.éjlhr ..-q‘.‘ :dﬁj «‘h B &{(7 'f"l
< (My 4D)w... t (;mo 4p)

d,f‘] !z. ﬂ =

e UL £ LJM/!mm.,




v e
fe U< [ »/im19) J
Lot G hea tive Set of Arvsgtmt  9Bavirs Y

B Bt e swsphe Gmaated ey Prhics of o
) a G) ' D £ 7- <M.

By D> @ B
h-o L
M
d"“ P)m = Fd""‘ Bh > Z J’T/(:rp}.{
w0 Ji i € M o ¢ Whjng ) < ¢
(4, = 49 2t -
Gikdm B — EIN olin By - ;-
" Jm Z b“’?,, ZUAZ:;_/
= h
J'/E\_, A7 - L‘/ﬂTn,r fi-

'I\
In -

EXomple 3 . Vi wad vos. of dm ). o dicsmel Hpe
- (4f )4y
1= (1) conexnkinoy
M 1= Biv) &= S(v) .

Clx: 9 Y;) = % O Ct=id > Sy hen € i HR
~ 7‘ . T{U)
Biv) (v) /(hvef C4id) D -i /<T’*V¥, Vel >

S TR P YR

(CHO (@1~ KB =0 = <X, g, ~agn,y < lbelery)d
Omvbriehy ‘[}j ¢ L ke ((40))



4 ¢ T () ke (ct:4) Y= kn X0, the ¥, 0%
+ ko Y201, + 4, X, 9y,
o=(CH ) {'1) — ‘j t k:.x. dY, + h-l Y, JY,

+ Fu 0% 4k, Y0y,
= 2k, 9% + (bt h ) %0y, ‘f/luﬁé,z)?rl@,,
+lhpy KOV =0
=z 0, Ry = — g,

‘q:kt'}. 7"19)(: —"én.xL@)rj G <X@Y
oy ¢ <wer(¢p) >0 T"H/)\
? = Zh-xl@...@"@a...xh G <X‘@Y‘_x'(9“>

,:_—3 <M[{+,‘A)7 = (X,@Y'—- X\@’ﬁ >

@ T COVOBI==N0v  Cd Yoo,
biv)== Alv) = Tlv) /<)h1-r']x,¥.gél/*>
LEARR A%+ X0 X, 0%, X, o,
G/Zﬂ/((‘ff!d)

Ye T N ke (134

b= (C4id) (4= R Y00, +hn 90 4 b g, 4, h
— ha %0Y, =k, %0y, —-/z,.,y@ %\
( A—n“" kl ) '2,{_9? + [‘t"“l“l) xl @

=V

<) h-n. = h"



I=h %O+ by (4,01 + %, 910 +4, hor,
C < WY —y9x . Ynev > .

?C-Ckﬂf((*h‘ﬁ)? N 7v) Sinilaw  To (1),

M= Alv).

(3’ }" ?(' G/{' 2T R VA Of Cavta, -"Y}’f (2 ?-4/)

2'}\/ L

Thawn “.l MYy i 04 A, wpe . mm\':i]

1?\}:\' ™=+ | m( v,
P S

-Gy,

:) 1 "‘:'l '2“a11 :/V q.-\,:l‘/‘/
Gqy =M

_ -
Ny A-(_' ,_)
(%)
Bﬂ [y, Setin~ %] Do, B = A/ 2
KD v fso Ag e
(4 A N7 en G hdm Blv) =02 =g Biy)
-1
hza o A=) o e wpe
W T b Gle ghw, Biv) =ve.
A/-7q ‘Al - H, .....(2_”)1 £ 0 -"-:"—-") A f.l 0{ fﬂM. 'le(
b ] @ Theed ] lwl“::— >
"U_V_(V‘ - W X ’lb (Y‘ Wyl s fq»f:h.‘U.
7y Thul,  Glgm biv) =02
A




